
1) 'What is the probability of rolling 
factors of 4.when rolling a dice

Answer: ____________

2) Factorise x2 + 9x + 14

Answer: ____________

3) 220 * 21

Answer: ____________

4) 7/11 x 10/10

Answer: ____________

5) 2/2 x 12/3

Answer: ____________

6) 6 ÷ 1

Answer: ____________

7) 30 ÷ 10

Answer: ____________

8) A number was shared in the ratio 
15:2. The smaller share was 6. What 
was the larger amount?

Answer: ____________

9) 10/
2 ÷ 9/2

Answer: ____________

10) 1/46 of 92

Answer: ____________

11) 11 x 1000

Answer: ____________

12) 2/5 x 16/7

Answer: ____________

13) (-65) ÷ 5

Answer: ____________

14) 10/8 x 14/1

Answer: ____________

15) Find the value of 'q' by completing 
the square of the following equation: 
2 + 4q + 4

Answer: ____________
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16) A number was shared in the ratio 
13:5. The larger share was 26. What 
was the smaller amount?

Answer: ____________

17)
12  Find Volume of Cone 

10

Answer: ____________

18) 3/
8 ÷ 6/9

Answer: ____________

19) Share 13 in the ratio 1:12

Answer: ____________

20)
16  Find Volume of 
               11       Cylinder 

Answer: ____________

Total: ___ / 20
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Answers:

1) 1/2 2) (x + 2)(x + 7) 3) 221 4) 7/11 5) 4 6) 6 7) 3

8) 45 9) 11/9 10) 2 11) 11000 12) 32/35 13) -13 14) 171/2

15) (q + 2)2 16) 10 17) 314.15926535898 18) 9/16 19) 1 : 12 20) 1520.5308443375
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